WATEROUS

Document Number

SPL83748

Issue Date

05/10/23

Rev. Date

05/10/23

C22 Series Transmission Oil Cooler
Service Parts List

Index:

For Pump Models

See Pages

Pump Components

Transmission

Components of Qil

Hose Schematic

82163—-M

(o
‘ |
\

| O

I
|

| _—

Components Cooler Subassembly
CM, CMU
CMCGV, CMUCGV 2 3 4 5
CS, CSU
LAl Y
] =N o L%/AT@[ =

WaterousCompany, 125 Hardman Avenue South, South St. Paul, Minnesota 55075 USA (651) 450-5000 www.waterousco.com

Note: When ordering parts, provide Pump, Transmission or PTO Serial Number.




W16

W18

W15

W10

W11

W13
W14
O
O
— -
- \\0 QO O O
A (e
O T/ T~ @)
~_ ™~
T~ \\\\ | o | =
— . \\\\\\ | :
~ -
N - I $
—~— S
T o @
N . }
. //” — O ©
N N Y
‘ ‘ \\ O\
> . \\ )
~_ \\\ N o
SN \,
-
Q S - O
NN
@ N ST %
° i
q Q 1 \
Q RN
QO O .
Q
Q)

Cooler Components Installed on Pump

/ /
/ /
,/ >

O
_ *\\
pd
@,
\\
\ \
\
\
\
\\ \2
b
- \:\\ ~
X
)
O -
/7
/

Ref No.

Description

W9 Union-Adapter, 90°, 3/8 NPT
W10 Hose Assembly, 3/8 NPT x 48 Long
W11 Hose Assembly, 3/8 NPT x 53 Long
W12 Hose Assembly, 3/8 NPT x 66 Long
W13 Clamp-Conduit
W14 Screw-Hex Hd, 1/4-20 x 1/2 in
W15 Tie-Cable
W16 Oil Cooler Subassembly
W17 Screw-Hex Hd, 7/16-14 x 1 in
W18 O-Ring, 3-1/2 x 3-3/4 in
Q/\\
\\\
\\\
\\
\\

SPL83748
Page 2 of 5




Ref No. Description
W9 Union-Adapter, 90°, 3/8 NPT
W20 Tee-Standard, Pipe, 1/2 NPT
W21 Plug-Pipe, Square Hd, 1/2 NPT
W22 Nipple-Pipe, 1/2 NPT x 1-1/2 in
W23 Nipple-Pipe, 1/2 NPT x 2-1/2 in
W24 Filter-Oil, In-Line
W25 Elbow-Street, 90°, 1/2 NPT
W26 Bushing-Reducing, Pipe, 1/2 x 3/8 NPT
W27 Hose Assembly

W9

W20
W21

Cooler Components Installed on Transmission

W22

W24

W25

W27

SPL83748
Page 3 of 5



Ref No. Description
W1 Adapter-Qil Cooler
W2 Plug-Pipe, Headless, 3/4 NPT, Steel
W3 Extension-Oil Cooler
W4 Connector-Tubing, 3/8 Tube X 1/4 NPT

W6 Tubing-Qil Cooler

W8 SCREW-HEX HEAD, 7/16-14 X 1-1/4, HEAT TREAT
(COARSE THREAD)

W9 Union-Adapter, 90°, 3/8 NPT
W16 Oil Cooler Subassembly

W17 Screw-Hex Hd, 7/16-14 x 1 in
W18 O-Ring, 3-1/2 x 3-3/4 in

Intake fitting (ref)

See page 2

W9

Components of Oil Cooler Subassembly SPL83748
Page 4 of 5



Ref No. Description
W10 Hose Assembly, 3/8 NPT x 48 Long
W11 Hose Assembly, 3/8 NPT x 53 Long
W12 Hose Assembly, 3/8 NPT x 66 Long
W27 Hose Assembly

W11
Upper port W10 _\ — Upper port

Left side — \ —

oil cooler ~ _ [ N O Right side
\ = | ] |_—Transmission i | /OI cOO0KET
| | / > oil pump | |
B =1 o
O | — O \° | ©
of(
o
Lower port = 4 Lower port
Return frorL/ 7
oil coolers ,
% W27
B %
| - / | : / | \© ) \ ; @ ;ILIEV:Ei.
|
\Transmission
Hose Schematic SPL83748

Page 5 of 5



	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4

	Sheet5
	Drawing View5


